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class Student:

def __init_ (self,n):

name=n
def show(self):
print(name)

s=Student("xxx")
s.show()
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def save():
f=open("test.txt","wt",encoding="gbk")
fwrite("F abc\nxyz")
f.close()

save()
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def save():
f=open("test.txt","wt")
f.write("abc\nxyz")
f.close()

def read():
f=open("test.txt","rt")
s=f.readline()
print(len(s))
f.close()

save()

read()
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class Student:
name="xxx"
@staticmethod
def show():
name="yyy"
print(name,Student.name)
@staticmethod
def display():
show()
s=Student()

s.display()
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class Person:
def __init_ (self,n="xxx"):
self.name=n
class Student(Person):
def __init_ (self,n="aaa",s="male"):
Person.__init__(self)
self.sex=s
def show(self):
print(self.name,self.sex)
s=Student("yyy","female")
s.show()
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BE: —1 KM 100 XKSEBHEET, SXEMEREONRERSEN—F, 5T Kekts
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Sn = 100.0

Hn=Sn/2

for nin range(2,11):



Hn /=2
print (‘'Total of road is %f' % Sn)
print (‘'The tenth is %f meter' % Hn)
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Sn+=2x*Hn
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BE: WNEERHTIESE, SHE=A. BB habc=A, ZXAxyz=A. DHER
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for i in range(ord('x"),ord('z") + 1)

forj in range(ord('x’),ord('z’) + 1):

ifil=j
for k in range(ord('x),ord('z") + 1):
if (i'=k)and (j != k):
if ( ):
print( ‘orderis a -- %s\t b -- %s\tc -- %s' % (chr(i),chr(j),chr(k)))

i 1= ord('x")) and (k '= ord('x)) and (k != ord('z")
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i 1= ord('x")) and (k == ord('x)) and (k != ord('z")
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i = ord('x")) and (k != ord('x")) and (k == ord('z")
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BE: B—NEEHDBREL. Bl %A 90, FTENH 90=2x3+3+5.
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from sys import stdout
n = int(input("input number:"))
print ("n = %d" % n)
foriinrange(2,n + 1)
while
ifn%i==0:
stdout.write(str(i))
stdout.write("*")
n=n/i
else:
break
print( "%d" % n)
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def save(s):
f=open("test.txt","wb")
s=s.encode()
f.write(s)
f.close()

def read():
f=open("test.txt","rt",encoding="utf-8")
s=f.read()
print(s)
f.close()

save("F [ I\nwe")

read()
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10.
f=open("test.txt","wb")
f.write("abc\nxyz".encode())
f.close()
def read():
f=open("test.txt","rb")
s=f.read()
forxins:
print(hex(x),end="")
f.close()
save()
read()
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0x61 0x62 0x63 Oxa 0x78 0x79 Ox7a
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0x61 0x62 0x63 Oxd 0x78 0x79 Ox7a
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0x61 0x62 0x63 0x0d Oxa 0x78 0x79 Ox7a
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0x61 0x62 0x63 0x78 0x79 Ox7a
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